

No. of Classes	1 dancer	2 dancers	3 dancers	
30 minutes	\$50.00 per month	\$45.00 per month	\$40.00 per month	
45 minutes - 60 minutes	\$60.00 per month	\$55.00 per month	\$50.00 per month	
Additional Classes	\$30.00 per month	\$30.00 per month	\$30.00 per month	

Enrollment Fee: There is a \$50.00 non-refundable enrollment fee for the first student, and \$25.00 per additional student for each family. Company dancers enrollment fee is \$65.00 per student, and \$25.00 per additional student.

Technique Privates (Private with 1 Dancer): Lessons cost \$35.00 for 30 minutes.

Technique Semi-Privates (Private with 2 Dancers): Lessons cost \$50.00 for 30 minutes (\$25.00 per dancer).

^{*}Must be a registered student at Movements in order to add a private to their schedule.

^{*}Must be a registered student at Movements in order to add a private to their schedule.



1 DANCER Monthly Tuition			
No. of Classes Dancer Tuition			
1 class	\$60.00 per month		
2 classes	\$90.00 per month		
3 classes	\$120.00 per month		
4 classes	\$150.00 per month		

2 DANCERS Monthly Tuition			
No. of Classes	Dancer Tuition Total Tuition		
1 class	\$55.00 per dancer	\$110.00 per family	
2 classes	\$85.00 per dancer	\$170.00 per family	
3 classes	\$115.00 per dancer	\$230.00 per family	
4 classes	\$145.00 per dancer	\$290.00 per family	

3 DANCERS Monthly Tuition			
No. of Classes	Dancer Tuition Total Tuition		
1 class	\$50.00 per dancer	\$150.00 per family	
2 classes	\$70.00 per dancer	\$210.00 per family	
3 classes	\$100.00 per dancer	\$300.00 per family	
4 classes	\$130.00 per dancer	\$390.00 per family	



New Family First Month Tuition							
No. of Dancers	ONE dancer		TWO	TWO dancers		THREE dancers	
No. of Classes	Weeks in Month	Total Tuition	Weeks in Month	Total Tuition	Weeks in Month	Total Tuition	
1 class	1 week	\$20.00	1 week	\$40.00	1 week	\$60.00	
	2 weeks	\$35.00	2 weeks	\$70.00	2 weeks	\$105.00	
	3 weeks	\$50.00	3 weeks	\$100.00	3 weeks	\$150.00	
No. of Dancers	ONE dancer		TWO	O dancers	THREE dancers		
No. of Classes	Weeks in Month	Total Tuition	Weeks in Month	Total Tuition	Weeks in Month	Total Tuition	
2 classes	1 week	\$25.00	1 week	\$60.00			
	2 weeks	\$45.00	2 weeks	\$90.00		\$125.00	
	3 weeks	\$60.00	3 weeks	\$110.00		\$160.00	
			•				
3 classes	1 week	\$30.00	1 week	\$80.00			
	2 weeks	\$55.00	2 weeks	\$110.00			
	3 weeks	\$70.00	3 weeks	\$120.00			
		-	•				
4 classes	1 week	\$35.00	1 week	\$100.00			
	2 weeks	\$65.00	2 weeks	\$130.00			
	3 weeks	\$80.00	3 weeks				

